This question paper contains 6 printed pages.
4534 Your Roll No. ....coereeeaerioccvienin

B.A. Prog. /111 AS

INDUSTRIAL RELATIONS AND PERSONNEL
MANAGEMENT

Paper III— Industrial and Labour Legislation
(Admissions of 2004 and onwards)

Time : 3 hours Maximum Marks : 75

(Write your Roll No, on the top immediaiely
on receipt of this question paper.)

NoTEe:— Answers may be written either in English or in
Hindi: but the same medium should be used
throughout the paper.

femoit.— g@ F9995 37 IR FO I /251 [l o 9y
¥ g dFA 7 I I e o & gar
FIfET

Attempt all questions.
All questions carry equal marks.
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1. Explain any three of the following:

(i) Payment of Bonus Act, 1936
PTO.
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(i) Employees State Insurance Act, 1948

(i) Minimum Wages Act, 1948

(iv) Trade Union Act, 1926

{v) Industrial Employment (Standing Order} Act
(vi) Payment of Gratuity Act, 1972.

Fraferfes § 9 sl @7 5w F:ifsw

(i) TH "I AYEm, 1936

(i) HHA s star fufam, 1948

(itd) =g¥am g9gh sfufqam, 1948

(zv) =agwra g Afafam, 1926

(v) st fFeiem @t s atfafram

(vi) YT GEra Afyf7am, 1972 3x5=15

. What are the benefits provided to the employces

under the State Insurance Act, 19487

gsg St sfaftan, 1948 ¥ A4y i@ 3 Iv&Efug
A ;R ? 15

Explain the provisions of the Factory Act, 1948
regarding Health or Safety of workers.

FHIIE! & @Wem Aual Qg $ g5y § SnEe
Afgf1am, 1948 35 ITFYT F Ty FfFTy 15
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4. What is the settlement machincery of scitling an
industrial dispute under the Industrial Dispute Act,

19487

Ffs faag sfafy, 1948 & 197 sl faar
¥ PR & g oefiad a=n 2 2 15

5. Define any five of the following:
(z}  Occupational discascs
(ii) Continuous service
(itf)  Seasonal factory
(iv) Workmen
(v) Strike
(vi) Adolescent
(vii) Factory
(viii) Lock-out
(ix) Wage
(x) Dependent.

frefafen & @ fest aiw # oftam v
(i) =FEEES A U1
(i) fiae @&

(iif) Wit FET
PTO.
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(iv) FHFR

(v) Egard

(vi) Tmam

(vii) FRETA

(viti) A=

(x) AHEh

(x) 3l 5x3=15

6. Explain the process of getting a trade union registered.
What are the benefits of a registered trade union in
comparison to an unregistered trade union?

g §9 * el & 9fFm W wWE s
Uiy oiftes 99 & sRIGRITA a9ftss w9 a1 qo o
a1 TV E? 15

7. Explain “Injury caused to a workman by Accident
arising out of or in the course of his cmployment’ and
also discuss the provisions regarding distribution of
compensation under the Workmen Compensation Act,
1923.

“HIR YR F SO 99 IR F TR F gda &
T FHER & g @’ @ Wy R i s v
HAUHIE, 1923 & a4lT wfqa & fGom & g9y o
ISl T faa=T FE 15
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8. What are the different schemes provided to workers
under the Employees Provident Fund and Miscel-
laneous Provisions Act, 19527

e wigs f3f ol waddl Iwaw sfufEm, 1952 F
ety FHEE 3 ) syefas fafe=t dteard s €2 15

9. Define “wages”. Who is responsible for payment of
wages and what deductions arc authorised from wages
under the Payment of Wages Act, 19362

‘wygd’ @ wiam dfn gagd s F fay feuw
afga § stk wagd 4T sifutias, 1936 & adia gagl
¥ H3-gt =il afvgw €2 15

10. Compare and contrast any three of the [ollowing:
(i) Strike - Lockout
(i) Arbitration — Adjudication
(iii) Retrenchment — Layoff
(iv) Allocable surplus - Available surplus
(v) Labour court — Industrial tribunal

(vi) Partial disablement ~ Total disablement.

frefafgs & @ fadl @7 1 @ RS
(i) ¥eard — drerael

(i) TeEEEy — AEvEd
P.TO.



4534

(iii) g — THER
(iv) ET SMURY — ITeew gy
(v) &= Tt ~ s e

(vi) HAifwe (3w — quf f3Ea

Ix5=15



